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401 AIEHIZL 20 1,666,347 0 1,666,347
01 A& tl 1,506,296 0 1,506,296
OAAZ JIEAIE S 1,506,296
~BMS AAT AANEHE Z4
884,803,000 » 14! 884,803
—sI=deed S|RN SAFHE =4
446,760,000 » 14! 446,760
— 7882 ¥ sl ¥ E2 LAF
HEEH 174,733,000& 14 174,733
03 AlE 2 THHI 10,051 0 10,051
OAlZ =2 HHI 10,051
~BMES AAT UANEIE I4
884,803,000 *0.63% 5,575
—sgJI=sdHY SR SAFHE =4
446,760,000 *0.72% 3,217
— 7882 ¥ seII=dH & E2 AF
HEEH 174,733,000& *0.72% 1,259
04 S AH2tE Al & H| 150,000 0 150,000
OdAx HAHAF 2 150,000, 000& * 14! 150,000
AFATAMA T =X (M EH) 1,444,000 4,800,000 A 3,356,000
306 ¢ 2 1,444,000 4,800,000 A 3,356,000
01 &3 1,444,000 4,800,000 A 3,356,000
OZS0l ALY 1,444,000
— S 2 M 20208 L AHAF B BFAA I (K] 2
) 1,444 ,000,000& 13| 1,444,000
HY2AZY| (AAE S AT 60,066 60,066 0
JlE &3l 60,066 60,066 0
JlE&l 60,066 60,066 0
201 ¢er24l 31,866 31,866 0
01 At 22l 31,866 31,866 0
OFNEA 1,831,000& »14H 25,634
O= &l 2,800
— S204Adl 8,000 x 14 25 2,800
OS A& Xt 3,432




SN bt A AT
M HYP2AZH (MAEEFAAI)
chelr D123l
SA - ZE-B(EA) - NRAY - B S il &t o il
—ZHE A 286,000& x1CH*12& 3,432
202 oddl 25,200 25,200
01 = LH 4 1l 25,200 25,200
O2L ol 100,000& »14H 128 16,800
O22 Kbl 75,0003 x 14«8 8,400
203 R =& 3,000 3,000
04 FN2ELSZ=TH 3,000 3,000
ORAN2EIRFEHI 250,000 128 3,000




